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29. Which of the following is a hormone whose
action requires a cell surface receptor?

A. Nitric oxide
B. Progesterone
C. Adrenaline
D

Growth factors

Answer: Option C
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32. The signaling molecules called steroid
hormones

are made in one location of the body
A. but have their effects some distance
away

are hydrophilic and so cannot
penetrate the plasma membrane

bind to cell surface receptors to

o trigger chemical cascades

D. never enter the blood of humans

Answer: Option A
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12. cAMP and cGMP are derived from

ATP and GTP by the actions of
A. adenylate cyclase and guanylate
cyclase respectively

GTP and ATP by the actions of
B. adenylate cyclase and guanylate
cyclase respectively

ATP and GTP by the actions of
C. guanylate cyclase and adenylate
cyclase respectively

D. none of the above
Answer: Option A
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* the type of cells that form in first hours after
fertilization ?
Totipotent
* the difference between G1 and G2phases ?
Centromere. ® o< <l G2
*the spindle fibers attached to ? Kinetochore
*chromatin ?
The complex of dna and protein found in the
eukaryotic nucleus which package
chromosomes.
* the wrong statement about the bacteria ?
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*in the binding between G&C thewrong
statement?
The number 2 in G is acceptor.
the N atomin position 9 of purine : .&1sall JaSI*
or in 1 of pyrimidine is bound by N-glycisidic
. bond ti the C1 of sugar
*the wrong statement about the stable
structure if alpha helix?
Polar atoms in the sugar phosphate backbone
form internal h bonds.
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31. The important functional groups participating in H-bond formation in DNA nitrogen
bases include all of the following except:

A. Nitrogens at position 1 of adenine  B. Oxygen atom at position 2 of cytosine
C. Oxygen atom at position 2 of thymine  D. Nitrogens at position 3 of cytosine

E. Nitrogens at position 3 of thymine

C: lgls>
i, .

22. Which of the following does not play part in DNA stability:

A. Electrostatic interactions between phosphate groups and different cations
B. Hydrophobic interactions between nitrogen bases

C. The absence of the 3'-hydroxyl group in DNA

D. Hydrogen bond between DNA backbone and surrounding water

E. Hydrogen bond between purines and pyrimidines
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17. Which of the following are features of the wobble hypothesis?

A. Some tRNAs can recognize codons that specify two different amino acids, if both are
nonpolar

B. The "wobble" occurs only in the first base of the anticodon
C. The third base in a codon always forms a normal base pair
D. A naturally occurring tRNA exists in yeast that can read both arginine and lysine codons

E. A tRNA can recognize only one codon

B: gl
i .

31. The important functional groups participating in H-bond formation in DNA nitrogen
bases include all of the following except:

A. Nitrogens at position 1 of adenine  B. Oxygen atom at position 2 of cytosine
C. Oxygen atom at position 2 of thymine  D. Nitrogens at position 3 of cytosine

E. Nitrogens at position 3 of thymine

CILg._nlg.?-
i@ .

22. Which of the following does not play part in DNA stability:

A. Electrostatic interactions between phosphate groups and different cations
B. Hydrophobic interactions between nitrogen bases

C. The absence of the 3'-hydroxyl group in DNA

D. Hydrogen bond between DNA backbone and surrounding water

E. Hydrogen bond between purines and pyrimidines

CILg.glg.?-
& .
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20. The leucine zipper motif, choose the wrong statement:

A. Two helices dimerize through hydrophobic interactions to form a coiled coil

B. Two monomers associate through the antiparallel beta3 sheets to form a dimmer
C. Function as dimmers to regulate gene transcription

D. Is an a-helix made up of 30 to 40 amino acids

E. Contains a leucine every seven amino acids

B: lgls>
i, .

17. Which of the following are features of the wobble hypothesis?

A. Some tRNAs can recognize codons that specify two different amino acids, if both are
nonpolar

B. The "wobble" occurs only in the first base of the anticodon
C. The third base in a codon always forms a normal base pair
D. A naturally occurring tRNA exists in yeast that can read both arginine and lysine codons

E. A tRNA can recognize only one codon

B : lglo>
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E. Each base pair is twisted about 36 to the next base pairs
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20. The leucine zipper motif, choose the wrong statement:

A. Two helices dimerize through hydrophobic interactions to form a coiled coil

B. Two monomers associate through the antiparallel beta3 sheets to form a dimmer
C. Function as dimmers to regulate gene transcription

D. Is an a-helix made up of 30 to 40 amino acids

E. Contains a leucine every seven amino acids

B: gl
i) .

17. Which of the following are features of the wobble hypothesis?

A. Some tRNAs can recognize codons that specify two different amino acids, if both are
nonpolar

B. The "wobble" occurs only in the first base of the anticodon
C. The third base in a codon always forms a normal base pair
D. A naturally occurring tRNA exists in yeast that can read both arginine and lysine codons

E. A tRNA can recognize only one codon

B:lgly
i ®
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29. The holes between DNA bases, choose the wrong statement:

A. When DNA twist the distance between sugar and phosphate become shorter

B. The twisting of the two strands around one another from a double helix with a minor
groove

C. The twisting of the two strands around one another from a double helix with a major
groove

D. The distance between two sugars is about double that of the thickness of the nitrogen
bases

E. Each base pair is twisted about 36 to the next base pairs

A lgls=>
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29. The holes between DNA bases, choose the wrong statement:

A. When DNA twist the distance between sugar and phosphate become shorter

B. The twisting of the two strands around one another from a double helix with a minor

groove

C. The twisting of the two strands around one another from a double helix with a major
groove

D. The distance between two sugars is about double that of the thickness of the nitrogen
bases

E. Each base pair is twisted about 36 to the next base pairs

A lgle>
i ®

20. The leucine zipper motif, choose the wrong statement:

A. Two helices dimerize through hydrophobic interactions to form a coiled coil

B. Two monomers associate through the antiparallel beta3 sheets to form a dimmer
C. Function as dimmers to regulate gene transcription

D. Is an a-helix made up of 30 to 40 amino acids

F Containg a leucine pverv spven aminn acids
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52. Which histones are associated with the linker DNA of a nucleosome?

A. Histone H3 B. Histone H4 C. Histone H5 D. Histone H1 E. Histone H2A and H2B

lgele>
D- Histone H1
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52. Which histones are associated with the linker DNA of a nucleosome?

A. Histone H3 B. Histone H4 C. Histone H5 D. Histone H1  E. Histone H2A and H2B

 lgelo>
D- Histone H1

i ®

29. The holes between DNA bases, choose the wrong statement:

A. When DNA twist the distance between sugar and phosphate become shorter

B. The twisting of the two strands around one another from a double helix with a minor
groove

C. The twisting of the two strands around one another from a double helix with a major
groove

D. The distance between two sugars is about double that of the thickness of the nitrogen
bases

E. Each base pair is twisted about 36 to the next base pairs
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What is the amount of Guanine
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Which of the following pairs of structures has the same amount
of DNA?

v @A)An unreplicated chromosome and a chromatid.
(OB)A replicated chromosome and a sister chromatid.
QC)A replicated chromosome and a bivalent.
QD)AnN unreplicated chromosome and a bivalent.
OE)AII of the above are pairs that have equivalent amounts of DNA.

Feedback: Correct answer.
Which of the following events dg ot occur during p e?

~ D)Fragmentation of the nuclear membrane.

Where do the spindle fibers connect to the chromosomes?

QA)To the centromere.
v @®B)To the kinetochore.
OC)To the centriole.

QOD)To the centrosomes.

Feedback: Correct answer.

\WWhat ic tha crhararctarictic faatiira nf motanhaca?
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e correct answer for each question is indicated by a v.

With regard to their chromosomes, what is a major difference
between prokaryotes and eukaryotes?
OA)Eukarvotes are diploid while prokaryotes are haploid.
9B)prokaryotes have DNA located in their cytoplasm, while all
the DNA in eukaryotic cells is located inside a membrane
bound nucleus.

/®CEukaryotes have linear chromosomes while most
prokaryotes contain a single circular chromsome.

OP)prokaryotes compact their DNA to a high degree while
eukaryotes maintain the chromosomes in an uncompacted
state.

Feedback: Correct answer.

Which of the following would be a valuable application of a
karyotype?

OA‘h.ﬂ:f—l—nf‘ﬂﬂr\:l— mrmmlismics AcmiilldAd allac idAamEifimaabiam AF cimiimia=l
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Genetic disorders caused by chromosomal
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